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SANSKRIT
[GENERAL]
Paper : 1
Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any six of the following: 1x6=6

@- (I = B Ao Ted 76 ¢

a) e qreed @t g=mafaaiaay —Who said
this?
“afe qraeE Wt gemyiaaey —Sfete 1@
(?

b)  Who was Tarapida?
SEICICHE BRGEE

¢) Which quality did Laksmi achieve from
‘gritstTadeetd: 2
ATIETOFF (AP T B wol SAZH] I ?

d)  What was the name of Vidiisaka in the drama
'Svapnavasavadattam'?!
AaEaEay Ao [yEred A F e

e) Account for case ending of the underlined

word of the following:

[Turn over]

f)

2)

h)
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Answer any eleven questions :

e @ilEs sima s faefe ey +7 ¢
EXR I

Give example of ‘TURRES .

SR Q(Rd SWiRgd W6 |

What do you mean by Ur?

o1 I A 2

When @& becomes T ?

T A OF J?

2x11=22

@A-FA @NAs Aea Teg WS

a)

b)

c)

d)

Name the Daivajfia according to Bhasa.
o SR twarsd W Y |

What is T&-& 2

e @2

Give the definition of W&o’ metre.
‘weifufl’ wrwa @ We |

What is the difference between &&= and
‘g 9

T 8 W AoER s 2
Give the example : (any two)

Trrzad we : (&-@en 1)

Fdr gftan, fFaf s, o agef
Distinguish between :

Sifare #1F] &Y

gerfa and Teiafa

(2]
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g)

h)

k)

I

Give the compound words with name of
the Samasa : (any two)

TR AN 8 W W (Y
7f5)
sety s, @ = fyar =, v =wfa =

q: |

“aenfy vagUE=T e JEdigdar |
Who is the listener and who is the speaker
of this line ?

Sgeiea e ¢ el IR ?

“fop i ged aifEd 7 —who is the
speaker ? Why did the speaker make this

(@

remarks ?
“for aeudifa zea ufmfsa 377 Sgooifa
IG (@ 7 ISE GF I I fF 2

Write the ‘Bharatavakyam’ of the drama
‘Svapnavasavadattam’.

EAIHFETY — W5 ST (F1 |
e faym a1 e faye wRg O e
who said this and when ?
“HAur faym a1 wng foym T @ e —
@ Y AP AR 9

Name the two dramas written by Bhasa.

o™ Afbe qfb o 9N @2 |
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3. Answer any seven questions:

6x7=42

@A- @ A 200g TSI WS ¢

a)

b)

TI(A)Y1

i)

Substitute in single word (any three):
1x3=3

GFFUR AT B9 (- ToAq6) ¢

a) I T 3T

b) 3R ISR

¢) st

d) 9q: g fuafa

¢) W4 way

Give the resulting form (any three):
1x3=3

Teoim =¥ @14 2 (@-@E! foaft)

a) T-9d9 + 9

b) @ + g

¢) T + e + h

d) =g + T

e) WM +H{+3

Decline (any three): 1x3=3

A [ 9 ¢ (@@ foab)

a) W in fsdian aga=a

by &g in Tt sgaeH

¢) UM in JAE THATA

d) g in wqf TewaeH

e) YTEd in 9YHT Uahddd
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i1) Conjugate (any three): 1x3=3 f) 1)  Account the case ending of the following

Aredel 37 32 2 (@-@ foa) underline words (any three): 1x3=3
a) @ in 9 YUHgEy fgaem @RIES A Fas-faefe [y o (@@
b) 29 in fafufce nemges wwasm foaf5) ¢
¢) ¥ in SR TUNGEY UehaeH a) A Ulefd
d) 9 in 9 in ITNGE THAEH b) =i f3fm &t
¢) ¥ in I ATANYEY Tkha<A ¢) I IqIAf @
¢) Define and illustrate mentioning ‘afd’ from the d) T FE: Fe | S
following chandas (any two): 3x2=6 e) Udbrdl grERY™ Aferedt
Surzaerz AR B i e Ak st 39 (- i1) Show the difference (any two):11x2=3
@i ) ¢ Al e ¢ (@@ 9i5)
W,WWWWWI JAERN: and AR, TS and TSEH,
d) Name and expound the Samasa (any three): 49 and S, TR, and STy
Ix3=6 g) Translate into Bengali (any one): 6
Y Qe G A (12 2 (@~ FoaAlB) ST S P (-G D)
e, e, e, Fra: i) wfrEeHi TeEmgTSie S e
e¢) a) Disjoin sandhi (any three):  1x3=3 SemRTERTpEA e e

T guat< | guasisiu mstfifaa-ada:

& | foafo
& Taman 9 5 (Q-CRIEAI ) wWealta  feAiwdw-gmiRE qEA)

We:, [Fged:, T, 3En

. . & A REE G BT :
b) Join sandhi (any three): 1x3=3 B WW%WI
A ve a9 ¢ (@~ foai) il) GEUIIRE<H ifi@q#]}—crﬁﬁ Wﬁ-{w
d - T4, 994 + 9%, A + 9, S '3:'855“ SSURRIENR feregaty
o ey e | 3 R

wfa | arfasAdie 9 saTeeEd |

TT(A)1 [5] [Turn over/ TT(A)/1 [6]



h)

1)
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Scan and define metre after mentioning Afd’
of any two of the following: 3x2=6
e Traods ww e 39 (- qio) ¢
i) T fetula SeraseEn |
i) vadal wHafear @ida: |
iii) TWwEmeEEiy q9: g wiEafa |
iv) ATl SEIRRE gfaiveiam |
Explain (any one): 6
Q@G I (@I Q) ¢
i) 3 oI dGHA ST T Ve ATf Faeay)
ity
i) o: %: TR A& Jogohlcl Tfese o T grafd|
Tl et o
Translate into Bengali (any one): 6
QREATT AW B (@A QF) 2
i) Touea ol SwPEYRRn
Ja&n: JU%h: TGfavan: §d gamfdar: |
IRs ety MgauAETaen fem
Frafafie quama gm & sgem:
i) IHER god: TdaeicasTdae:
IR SRR Fufaomg@ uias |
fear o wt ar afterfa gt wufd
J9: UMM, TeRastid ale ae@argai: ||

[ 7 [1urn over]
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Answer any one of the following :

10x1=10

Q- @B A T\d W

a)

b)

Summarise the contents of Act V of Bhasa's
‘Svapnavasavadattam® and indicate its

dramatic significance.

S EEEEEeTy, AIh0ed ALRWCED
AR O AT WA T |
Who was Sukanasa ? What, according to

him, is the justification for the advice given
by him to Chandrapida ?

WFAPT (F e ? FEACE ST Wi
T e fJoama @9 |

Translate into Sanskrit : (any one) 10x1=10

MO S WE@W T (@-@A @Ff0):

a)

Students are the future hope and strength
of our country. Much depends on how they
spend their time and energy. They have to
aquire knowledge and experiences and
wisdom. They should know the conditions,
habits and customs of the people. But they
should not waste their energies in vain. It
is better, if they follow the saying,

“Students sole devotion is study.”
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b)

19913 WNCHR (veAd SfaEie = 8
& | SR OvE ANy @92 xS e
TR FAE O TR WA g WEwa |
T, dfewel 8 RFl SIwE WEW ST
2@ (AICRY GIF, Iei «de Y9l ©Ithd
s Bfee 1w g dfem A T
T | SR ACH QA WAL AN -
“‘]3 VRGP B 1 mgﬁm |

A poor woman once came to Buddha and

asked him for medicine to restore her dead
child to life. He told her that he would
revive her son if she could bring mustard
seeds from a house where death had never
occured. The sorrowing mother went from
doors to doors but did not find any such
house. She returned with a heavy heart.
Then Buddha adviced her to give up her

grief since death is common to all.

GFAN (PG WG INA UHI WRCH Qge
AL O YO AP GO A Gy O
IR (AT Y oAfT FAEE | R O
A @, THAR 7@ ol enie Face
A A f$f @ Ien A8 (A AT Secs
A1 @ ABICS Y97 I b =@ |
@ FE Qe | e Jm O (NS
“Afqorsl FAR ST e S gy AL
TRYAS |
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6. Read the following passage and answer the questions

in Sanskrit:

SEenis oS F9 QR AR TE e SRE (FY ¢
wifq gaed wqfdasl W gEdl | awadte ad
e W - TR FATIRA i aerETsy
T e wreEgeIe MisH wfasafa | aEA gggmen
wfagray - e giguaEee mu grafiaeay | SR
° ageh: FYIaAHRaHIY Tl QIS YU 34T - 4
2fD yOE % | 3l gd - e, ? d: GHEE: |isaeq
- SERISEY |

i) 9 goan ymen: fh faqafa @ ? 3
i) =ft ggzpna T g ¢ fb a1 @A 7 243
iii) o: FQfdes: ¢ | A F@fd = 7 2

77(AY) (10}



